- -1 -
g% s [
i § e
S D [ B A LR
g 5 F &
1072 EOT
1072 e e
107 K 9‘;-
1073 E_ """""" LR S R
10™ [
g +w o107F -
= = k. T T
g R R
. 0.9F----f---retemnneithe
0.95— '2 . 0A8:71 :2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
=B
—— BoMiER i u1?1 ©s8
—— DQMstep3~TT defaultNEWTOLDSAMPLE
= £
2 =
2 -
> S
5 ©
107
107
1073
o o107°F
= I -
X @ F
E 0.8: .
1 2 3 -1 2 3
10 ! TPlp?T (PCA t%obeamliné'p 10 1 TPlp?T (PCA tjbobeamliné'f)
~ 1
d :
D_!—
o
5
107
.910:'%: .
& 12— R R =<4 R
LI FRRRR [
E Fbat :
1:""'"""'3'*':;+++"£c++4+" B
-1 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


